ZTIEC 5T (7L 7 F ALK
1EERER (ver)

2 148 (20094 43140 Al HIEESLab - 29 %)

P.4. THS 5T : = (2 + (—y1)i) (w2 + (—y)i) (2122 — 1192) + (=210 — 110)i = —
= (214 (=y1)i) (22 + (—y2)i) = (2122 — 1Y) + (—2T1Y2 — Y172)i =

p.27 th5217H : Ozl +ai+c:0 ot —i—@%—kc:()

P.48 EHS591TH : W3 W TR =ML M- T, HA4TTIINEREKLZHE->T, —
AT T AR ST, 56 BTN E - T,

P.64 EM5 81TH : (cosz + isinz)(cosy + siny) = cos(x + y) + isin(z +y) —

(cosz +isinz)(cosy + isiny) = cos(z + y) + isin(x + y)

P.78 ES 1 01TH  Hfllic o T, 25z & — Fllic OV T, 2.3fiz2HOZ &

P.81 EM51071TH :

. bn+1 . Ap1T . An41 . bn+1 . an+1zn+1 . An+1
lim = lim =1 |z| = — lim = lim |———| = lim |z| =
n—oo bn n—oo anl’n n—oo | n—oo bn n—oo anzn n—oo |
P.84 M5 1 317H:
R R
= =< 1 k #Q l( 3 7':.. —r=— < ]_ k i\) ‘1 3 f’\_
R |21]

P.102 EM5417H :

1 1
Log(1+1i) = 10g\/§—l—iE = —10g2+ig — Log(1+1i) = log\/§+i% = 510g2+i%
P.128 -F7b‘b9

dz
/C/z 241 ’ /|z2—|—1|| [ =7

e | 1
dz| < dz| £ 0 0
/C/ZQ—I—l Z‘_/C/|22+1|| = S (r—0)

el _ ol

—-0(r—0 —

el _ iz

P.131 ES5117H : sinz = ‘ — sing= —"—
21 21
— R ez’;t o eia: R eim - e—izr
P.131 £S5 215H :15:/ g — ff:/ AL
. 2ix R 2ix
P.147 EHh5 2178 :
P.147 THh551TH, P.148 TH5317H :
w9 (sina — sin 2x n sin 3x B sin bx T (_DnHSinn:L’ L .
2 3 5 n
9 (& sin 2x n sin3x  sindz n n ( 1)n+1sinna¢ n
~ S — — PN — PR “ e
. ey 3 4 n



P.158 E05 3178, 4178 : (e, ,dt, d;) — ¢, ¢, df,d;
P.162 Th5 1178 :

Jan] 271 + [ 220 + 27328+ 4 ez 7+ |57 —

|an| (|27 + [2"220] + [2"7322) + -+ + ‘22872‘ + |z{)"1|)

P.182 EEME 26 DL 2 —i—=leT — 2=i=1e% T, Tz IZZSH,

P.184 ;EEM&E 35 @ﬁi’:fgl/e_mxda; —>/ eImE
0 0

1 <7r n 1 (7T+
Cm=——\z7T"" —Cn=——"\|—"
2m \2tm 2m \im

PUMIZ ver.2 £ TOETIE.

2R—Y, THS53TH : 21y + 22yp — 2170 + Y190

15R—Y, En528 iy LS EVED oy, [y

flx,y+k)

k—0 h E—0
60R—Y, THS21TH i costy &5 — costy=0 &% 5
61R—Y, THS2TH: -1 <tZ O — —I <t <2 D
6

6 7R—=Y, EH561TH : FRN — KN
88—y, ENST7TR:z, — 2"

117R=Y, TS5 1178 :wv(u,v) — iv(z,y)

k

148R—=Y, THho2TB 2 =7 DEHEE2EASE — =7, -1 DLEEEZEID L

157~—Y, EHAS5571TH: Z?;(IE) ag —n(e)a . E;l’z(le) ar — n(e)a

n+1 m+1
162R—=Y, TH57TH 2z, — "

Y.M. A (ver.l), M.T. A (ver.2), O.Z A (ver.3) o DIFHALICHE @7 L £ 7,



